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SURDS & INDICES 

 INTRODUCTION 

1. Laws of Indices: 

i. a
m
 x a

n
 = a

m + n
 

ii.  

a
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= a

m - n
 

a
n
 

iii. (a
m
)
n
 = a

mn
 

iv. (ab)
n
 = a

n
b

n
 

v.  

 

a 

 

n 
= 

a n  

b b n  

        

vi. a
0
 = 1 

2. Surds: 

Let a be rational number and n be a positive integer such that a
(1/n)

 = a 

Then, a is called a surd of order n. 

3. Laws of Surds: 

i. a = a
(1/n)

 

ii. ab = a x b 

iii.  

 
= 

a 

b 

iv. (a)
n
 = a 

v.  
vi. (a)

m
 = a

m
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SURDS & INDICES 

 EXERCISE- 

1.    Value of (√8)
⅓
 is – 

      (a) 2        (b) 4        (c) √2      (d)  2√ 2  

2.   If a+b=3, a-b=1,to find out a
2
-b

2    
? 

     (a) 2             (b) 4              (c) 1           (d) 3 

3.   3 
³
× 2

³
 = ? 

      (a) 125      (b) 216    (c) 154     (d) 54 

4.   (444)
o 
×(o)

444
 = ? 

       (a) 444       (b) 1        (c) 0          (d) none 

5.   (756)
o
 × (1) 756 × (756)

¹
 × (o)

756
 =? 

       (a)1           (b) 0          (c) 756        (d) none 

6.   5
¹/4  

× (125)
0.25 

is equal to : 

       (a) √5       (b)5√5       (c) 5             (d)25 

7.   (32/243
)-2/5

 is equal to: 

       (a)   4/9       (b)  9/4        (c) 16/81      (d) 81/16 

8.   (1/216)
-⅔

 ÷ (1/27)
-4/3

 is equal : 

       (a) ¾         (b) ⅔          (c) 4/9         (d) ⅛ 

9.   (√ (144)²)
-½

  = ? 

       (a) √-144    (b) -144     (c) 1/√144    (d) √144 

10.  (4)
-½

× (4)
½ 

× (4)
o
=? 

       (a)  1           (b) O       (C) 4         (d)   2 

11.  (-1/343)
-⅔

 =? 

       (a) -1/49        (b) 1/49      (c) - 49       (d) 49 

12.  √x = 4/√x to x= ? 

        (a)  x =4        (b) x =5     (c) x=2     (d) x=3 

 13.  (28)
²
÷ (28)

³
   =? 

        (a) 1/28         (b) 2/28     (c)  4/28     (d) 5/28 

14.  (40)³×(30)³×(20)³ =? 

        (a) (40000)³    (b) (32000)³   (c)  (24000)³     (d) none 

15.  (2
4
)
9 

÷ (2
3
)
2 

=   ? 

        (a)  (2)³º            (b) (8)³º            (c)  (4)³º         (d)  (5)³º 

16.  (81)³÷ (9)³  =? 

       (a) 528111         (b) 428514      (c)   531441    (d) none 

17.  √49 ÷  √ 81  =? 

       (a)  7/2              (b)   7/9            (c)   3/7           (d) none 

18.  (9)
3/2

÷(243)
-2/3 

is equal? 

       (a) (3)¹º/³           (b)  (3)19/3       (c)   (3) ¹/³       (d) (3)19 

19.  (27)
-⅔

 is equal? 

(a)   1/6              (b)  1/8              (c) 1/9               (d) 1/27 
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